VIVEK TUTORIALS
X (English)
(Prelim)

Geography-(All)

DATE: 04-02-19

TIME: 2 hour

MARKS: 40
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Choose the right option and rewrite the sentences :

Brazilian time (BRT) is ...............

a. 3

b.5 c.2

hours behind GMT.

Cold winds blowing from the north of ................ are obstructed by the Himalayas.
b. Siberia c. Russia d. China

a. Asia

In North-eastern part of Brazil, which types of settlements are found?

a. Nucleated b. Linear

Tourism is an ............... activity.

c. Dispersed d. Star-shaped

a. economic b. social c. political d. cultural

Match the correct pair.

“)

“)

Coloum "A"

Coloum "B"

Trans-Amazonian

a. Tourist place Highway

ii.

Road Transport

b. Railway station in India

iil.

Rio-de-Janerio

c. Major highways

iv.

Manmad

d. 40° W Meridian

Answer in one sentence. (Any four)

“)

Inland fishing is not developed in Brazil though there is large number of rivers in Brazil? Can you think of the

reason?

Which part of Brazil, the population is moderately populated ?

Out of the countries that you have coloured, which is longer in size?

What precautions will you take continuously during the field visit?

Which type of occupation gives a boost to the development of a country’s economy?

Fill the map with the given information and make a legend/ index. (Any four)

Fill information in the map of Brazil, give titles and prepare an index/legend.

i.
il.
iii.
iv.
\2

V.

The Highlands. (Brazilian shield)

The Island (Marajo)
River Amazon. Parana
Pampas.

River Sao Francisco

Highest Peak (Pico de Neblina)

(B) Answer the following questions on the basis of the map given. (Any four)
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RAZIL
Major Primary Activities

North Atlantic Ocean
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i.  In which part of Brazil is the coffee mainly produced?
ii.  Which food crops are mainly grown in Brazil?

iii. Can you relate the production of these crops with the climate?
iv. Where are the rubber plantation is concentrated?

V. Sr. No. Type of crops Crops Area of production
1 Food
2 Cash crops

vi.  In which part of Brazil bananas are grown?

Give geographical reasons. (Any two)

Availability of water is major factor affecting settlements.
Convectional type of rainfall is not prominent in India.
Development of transport is important for country’s progress ?

Population density is high in the Ganga plains.

Q.6 (A) Draw a graph with the help of the given statistical information.

Prepare a multiple bar graph and write the answers

(6)

(6)

India's Export and Import (Value in nearest 10000's US $)

Year Exports

Imports

2009-10 18

29




Q.7

2010-11 25 37

2011-12 30 49

2012-13 21 36

i. India belongs to which type of balance of trade?
ii. In which year is the difference between India's exports and imports highest?
iii. In which year is the difference between India's exports and imports least?

OR

(B) Answer the following by reading the graph/diagram.
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i. Which country’s national income was the highest in 2016 and how much it was?

ii. Comparing India and Brazil, which country had a higher national income in 19807

iii. Comparing India and Brazil which country had higher income in 2016?

iv. Tell the difference between the GNP of Brazil and India in 2016.

v. Calculate the difference between the national incomes of developed and developing countries in 2016.
vi. Which country’s national income was the highest in 1980 and how much it was?

Answer the following in detail. (Any two) ®)

What are the similarities and differences in the fishing activities in Brazil and India?
Modern means of communication.
What could be the reasons behind the formation of swamps in the extensive continental location of Pantanal?

Look at the figure observe the logo given.
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i. Identify the industries with which they are associated.
ii. Which raw material is used for these industries? Classify them.
iii. From which part of India do they get these raw materials? Discuss and write.



